Chapter one: the three senses of culture
· The three levels of culture are:
· 1. the Individual
· 2. class or Group 
· 3. Society 
· To understand culture we need to understand it from:
· 1. a bacteriologist point of view (improvement of bacteria)
· 2. an agriculturalist point of view (improvement of seeds)
· It means “the improvement of the human mind and spirit”
· In this sense culture means: “the self cultivation of the individual” 
· Eliot disagrees with other writers like Arnold Culture and Anarchy (we should start with the perfection of an individual)
· Eliot: a cultured person needs not only good manners but also education, intellect and sensibility to the arts.
He means that the culture of the individual and the culture of class and that of society complete each other.
· Eliot: the decline of British culture manifests itself in the decline of the art of preparing food.
· He defines culture as: “culture is that which makes life worth living” 
· Eliot: the decline of British culture manifests itself in the decline of the art of preparing food.
· He defines culture as: “culture is that which makes life worth living” 
· Eliot starts with a criticism of Arnold’s view that: culture is more comprehensive than religion.
· Eliot believes that: culture and religion are equally important and are interrelated.
· He says: culture and religion are different aspects of the same thing.
· “aesthetic sensibility is interrelated to spiritual perception”
· Eliot: “culture includes all the characteristic activities and interests of a people”
The Industrial Revolution
· The era known as the Industrial Revolution was a period in which fundamental changes occurred in agriculture, textile and metal manufacture, transportation, economic policies and the social structure in England. 
· Agricultural Changes (Revolution)
· Advances in agricultural techniques and practices resulted in an increased supply of food and raw materials, changes in industrial organization and new technology resulted in increased production, efficiency and profits, and the increase in commerce, foreign and domestic, were all conditions which promoted the advent of the Industrial Revolution.

· Agriculture occupied a prominent position in the English way of life of this period. Not only was its importance rooted in the subsistence of the population, but agriculture was an indispensable source of raw materials for the textile industry. Wool and cotton production for the manufacture of cloth increased in each successive year, as did the yield of food crops.
· We do find increased energy being placed into the breeding of livestock, control of insects, improved irrigation and farming methods, developing new crops and the use of horsepower in the fields to replace oxen as a source of power.
· These changes which have occurred in agriculture made it possible to feed all of the people that were attracted to the industrial centers as factory workers. By providing enough food to sustain an adequate work force, England was preparing the way for expansion of the economy and industry.
Enclosure movement
· In 18th century England, the enclosure of common village fields into individual landholdings, or the division of unproductive land into private property was the first significant change to occur. This concentrated the ownership of the land into the hands of a few, and made it possible to institute improved farming techniques on a wider scale.
· Enclosure movement made small farmers leave their land and move to the city for work.
· Now farmers do not have to get the consent of other villagers and so they can experiment with new methods in farming ex:
· Jethro Tull~~ invented a seed drill
· Charles Townshend ~~crop rotation
· Jethro Wood~~iron plow (replacing parts)
· By 1800s, the need for farm laborers decreased and workers went to the city to create a large labor force.
Why did the industrial revolution begin in Great Britain?
· Great Britain had factors of production (the basic resources necessary for industrialization):
· Land: natural resources (coal and iron), harbours (trade), rivers (transportation)
· Capital: money
· Labor 

Textiles
· How did new inventions in the textile industry spur the development of other new inventions?
· Cotton textile industry
· From domestic system to factory system
· New inventions:
· John kay (flying shuttle)
· James Hargreaves (spinnng “jenny”)
· Richard Arkwright (the water frame), factory
· 1779 Samuel Crompton (the spinning mule)
Who are the luddites and why did they smash machinery?
A group of disaffected British workers and artisans who violently protested their loss of status, wages, and protection under the law during the industrial revolution. 
· James Watt’s steam engine (no need for man power, wind, or water)
· the industrial revolution crossed from Britain to other countries: steam engines, factories, railroads.


The second industrial revolution
· From 1870 until our present day.
· Electric power
· Internal combustion engine
· Telephones
· Automobiles
· Radios
· Television sets
Iron and steel
· William Kelly and Henry Bessemer developed a cheap and efficient method of making steel.
· The Bessemer process: forcing air through the molten metal to burn out carbon and other impurities that made the metal brittle. 
Transportation
· Roads: John McAdam (macadam roads)
· Rivers: canals
· Railroads: using steam engine
· steamboats 
The communication Revolution
· Scientific research played a more significant role.
· Samuel Morse invented the telegraph.





